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Dot Plot of Education
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Histogram of Heights
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Height(Inches)
Bin Size
1.00<[ii] 750 [10 |
Height Frequency
63 2
64 7
65 12
66 28
67 33
68 43
69 31
70 26
71 12
72 4
73 0
74 2

(Note: The table was done after rounding the heights to the nearest whole number.)

The shape can change significantly when the bin size is changed.



1.3
b) Because from the histogram, the min and max values eliminate (a) and (c) as choices, and then the median is
in the bin that goes from 24-26. The data histogram shown provides the following approximate sumamries:

e Range: 12-35

e u(mean) vs. m (median): u =24 (approx) < m=25

e Q1-~22

e Q2-~25

e Q3-~28
1.4
a) mean = 6.49, sd = 0.915; this gives us a measure of center and spread for dopamine levels
b) Q1 =59 median = 6.2 Q3=74 IQR=Q3-Q1=15
c)CVv=0.141

d) mean =7.26, sd = 1.23, Q1 = 6.2, median = 7.4, Q3 =8.6
None of the measures showed resistance to the change.

a)Q1=48 median=5 Q3=5.2 b) IQR=0.4
c)
=|DEIIO||'I.IPDATE__CHART|CLEM| fed
LR
51
P
@
=
g a3
2
1
=
o -
b Category 0
M [Sepal_Lenagth(em).Category 0]: SampleSize=50 Mean=5.006 Median=5 stdDev=0.35249 Skewness=0.11528 Kurtosis=2.60115
M [Sepal_Width{cm).Category 0]: SampleSize=50 Mean=3.428 Median=3.4 stdDev=0.37306 Skewness=0.03952 Kurtosis=3.66534
[ [Petal_Length(cm).Category 0]: SampleSize=50 Mzan=1.462 Median:1_.5 stdDev=0.17366 Skewness=0.10214 Kurtosis=3.7285
[ [Petal_Width(crm).Category 0] SampleSize=50 Mean=0.246 Median=0.2 stdDev=0.10539 Skewness=1.20371 Kurtosis=4.34563 I
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g W [Sepal_Length(cm).Category 0]: SampleSize:!’iﬂ Mean=6.588 Madian=6.5 stdDev=0.63588 Skewness=0.11328 Kurtosis=2.85382

| m [sepal_width(em).Categary 0: SampleSize=50 Mean=2.974 Median=3 stdDev=0.3225 Skewness=0.35131 Kurlosis=3.44537
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§ [ [Petal_Length(cm).Category 0]: SampleSize=50 Mean=5.552 Median=5.55 stdDev=0.55188 Skewness=0.52747 Kurtosis=2.68866

t [ [Petal_Width{cm).Category 0: SampleSize=50 Mean=2.026 Median=2 stdDev=0.27465 Skewnass=-0.1243 Kurlosis=2.29188
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Boxplot of Iris Virginica
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W [Sepal_Length(cm).Category 0]: SampleSize:!’iﬂ Mean=6.588 Madian=6.5 stdDev=0.63588 Skewness=0.11328 Kurtosis=2.85382
M [Sepal_Width(cm). Category 0]: SampleSize=50 Mean=2.974 Median=3 stdDev=0.3225 Skewness=0.35131 Kurlosis=3.44937
[ [Petal_Length(cm).Category 0]: SampleSize=50 Mean=5.552 Median=5.55 stdDev=0.55188 Skewness=0.52747 Kurtosis=2.68866
[ [Petal_Width(cm).Category 0]: SampleSize=50 Mean=2.026 Median=2 stdDev=0.27465 Skewness=-0.1243 Kurlosis=2.29188




1.6

a) median = 38

c)
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d) Between 35.25 and 41.65 lies 79/119 = 66.4% of the observations.



